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At 2,447 403,672
1 |® ze(KHH) 1A G 1) (PVG) 6 962
2 | ® z(KHH) < = (KIX) 12 2,057
3 |® z(KHH) + B (KUL) 6 2,977
4 | % z=(KHH) ¢+ & (NGO) 4 2,283
5 |® z(KHH) A x (=% a )(NRT) 28 2,519
6 |®& z(KHH) ® p (HAN) 12 1,507
7 |® & (KHH) # &P (SGN) 12 1,960
8 | % z(KHID % & (HKG) 32 632
9 |® z(KHH) 4. % (DAD) 6 1,574
10 |% z&(KHH) 5 f 2 (MNL) 6 899
11 | % 2K § 5 (g~ )(BKK) 14 2,456
12 |®& z2(KHH) & F* (XMN) 2 310
13 | % z2(KHH) #& b (FUK) 4 1,910
14 |#74c# (SIN) % # (TPE) L (CTS) 6 5,937
15 [#74 8 (SIN) % # (TPE) L # (= v )(NRT) 14 5,371
16 [374c 4 (SIN) % # (TPE) 1275 (LAX) 6 14,416
17 |74 8. (SIN) £ # (TPE) H (= )(CN) 10 4,701
18 |+ ® (RMQ) # &P (SGN) 8 2,098
19 |4 ¢ (RMQ) % i (HKG) 8 695
20 |% 4 (TPE) +a G L) (PVG) 56 735
21 |4 # (TPE) =~ B (KIX) 120 1,732
22 | % # (TPE) ~ =R (TAE) 4 1,390
93 |4 # (TPE) 2 i # (PPS) 4 1,931
24 | % # (TPE) = % (CDG) 14 9,789
25 |4 # (TPE) #* 5. (PEK) 15 1,725
26 |% 4 (TPE) % 2 274 (BNE) 14 6,755
27 |4 # (TPE) # 2 274 (BNE) B 5 (AKL) 6 9,035
28 |+ # (TPE) L (CTS) 48 2,764
29 |4 # (TPE) =3 F(IST) 12 8,422
30 |% 4 (TPE) * L # (TAH) 10 12,765
31 |4 # (TPE) + 158 (KUL) 58 3,246
32 |% # (TPE) %+ & (NGO) 18 1,892
33 |4 # (TPE) 5% %5 (YYZ) 12 12,089
34 |£ # (TPE) % <% (ONT) 8 10,993
35 |+ # (TPE) = 28 (CTU) 8 1,809
36 |% 4 (TPE) F @ (MXP) 4 9,604
37 |%& # (TPE) & 2. B (SEA) 14 9,749
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38 |4 2 (TPE) # #Z(DXB) 14 6,548
39 |4 2 (TPE) I » (BKI) 8 2,197
40 |4 # (TPE) # 7= (ROR) 4 2,418
41 |4 2 (TPE) A % (2 2 )(NRT) 136 2,216
42 |4 # (TPE) % % (32 @ )(HND) 24 2,216
43 |4 2 (TPE) 7 ) (HAN) 74 1,641
44 |4 # (TPE) i i v 4w (FRA) 14 9,383
45 |4 2 (TPE) 5 48 (ORD) 10 11,986
46 |4 # (TPE) 7 15 (VCA) 1 2,334
47 |4 2 (TPE) 4 ¥ (PNID 18 2,294
48 |4 # (TPE) £ (+ 414 (KLO) 2 1,755
49 |4 # (TPE) Fo b 20352 (AMS) 8 9,460
50 |4 # (TPE) i 1575 (LAX) 56 10,927
51 |4 2 (TPE) # &mH (SGN) 90 2,211
52 |4 # (TPE) # f (=) (ICN) 86 1,503
53 |4 2 (TPE) % % (HKG) 220 811
54 |4 2 (TPE) #2 % (DPS) 20 3,811
55 |4 #“ (TPE) % 3¢ (% 26 )(LHR) 10 9,782
56 |4 # (TPE) 3. 3% (DAD) 33 1,718
57 |4 # (TPE) T3 (OKA) 54 634
58 |4 # (TPE) a5 (JFK) 20 12,538
59 |4 2 (TPE) % L (PUS) 22 1,406
60 |4 # (TPE) 5 2 £ (MNL) 104 1,172
61 |4 2 (TPE) § 5 (RE)(DMK) 20 2,722
62 |4 # (TPE) § 5 (g~ % )(BKK) 102 2,491
63 |4 2 (TPE) § (Rt )(BKK) |4 232 (AMS) 12 10,572
64 |4 2 (TPE) B 5 (g% )(BKK) |#%3c(F #ri2)(LHR) 14 12,031
65 |4 # (TPE) § s (gt )(BKK) s 4 (VIE) 14 10,940
66 |4 2 (TPE) 7% 7% (CEB) 22 1,661
67 |4 2 (TPE) # 8 (CNX) 6 2,401
68 |4 # (TPE) 2 44(SYD) 22 7,260
69 |% # (TPE) 72 4 32 (CGK) 36 3,308
70 |4 2 (TPE) 2 5. (AKL) 10 8,373
71 |% 2 (TPE) & (XMN) 26 338
72 |4 # (TPE) #7445 (SIN) 112 3,276
73 | % # (TPE) BB =(YVR) 24 9,597
74 |4 # (TPE) ®3 (VID) 3 1,932
75 |4 # (TPE) & b (FUK) 58 1,349
76 |4 2 (TPE) s 3 (VIE) 20 8,983
77 |4 # (TPE) B o5 (PHX) 1 11,433
78 |4 2 (TPE) Fr 2 (MUC) 8 9,276
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79 |+ #* (TPE) & # ~(MEL) 10 7,373
80 |& # (TPE) 2 (MFM) 32 948
81 [% 2 (TPE) A1 (CIU) 10 1,193
82 |4 2 (TPE) 15 (YNY) 6 1,605
83 |+ #* (TPE) 1 # (PEN) 22 3,132
84 |% #* (TPE) % £ L (SFO) 52 10,392
85 |[% 2" (TPE) M5 (GUM) 2 2,783
86 |& 4 +> L (TSA) 1A G L) (PVG) 16 653
87 |&% 4 +>.L(TSA) L i (3¢ 2 )(HIND) 98 2,130
88 |& # L (TSA) B CEF)GMP) 22 1,493
89 |% L (TSA) B (XMN) 18 327
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